



**WELCOMES** 



**July 29 – August 5, 2026** 

## **ABOUT HILTON DAYTONA BEACH**

Featuring 60,000 square feet of indoor and outdoor meeting space overlooking the Atlantic, the Hilton Daytona Beach Oceanfront Resort is Hilton's largest meeting facility on the east coast of Florida.

Our premium meeting spaces are designed to maximize productivity, comfort, and convenience. These exceptionally appointed professional spaces are ideal for meetings, seminars, training sessions, awards dinners, retirement parties, and much more. Each flexible, customizable space sets the stage for events your attendees will look forward to putting on their calendars.

What's more, our experienced event planners will work with you every step of the way to ensure that the decor, furnishings, audiovisual equipment, and even catering don't just meet — but exceed — every expectation you have.



## HILTON & DAYTONA BEACH EXPERIENCES

Daytona Beach Has Grown Up

A Day In the Life at Hilton Daytona Beach Oceanfront Resort



## **ROOM BLOCK**

	Wed 07/29		Thu 07/30		Fri 07/31		Sat 08/01		Sun 08/02		Mon 08/03		Tue 08/04		Total
Queen/Queen Oceanfront															
	15	\$ 189.00	563	\$ 189.00	563	\$ 189.00	563	\$ 189.00	563	19	563	\$ 189.00	384	\$ 209.00	3214
King Oceanfront															
	10	\$ 189.00	124	\$ 189.00	124	\$ 189.00	124	\$ 189.00	124	\$ 189.00	124	\$ 189.00	124	\$ 199.00	844
Clocktower Suites															
	12	\$ 189.00	12	\$ 189.00	12	\$ 189.00	12	\$ 189.00	12	\$ 189.00	12	\$ 189.00	12	\$ 209.00	84
Atlantic King Suites															
			11	\$ 189.00	11	\$ 189.00	11	\$ 189.00	11	\$ 189.00	11	\$ 189.00	11	\$ 189.00	66
Terrace King Suites															
			5	\$ 189.00	5	\$ 189.00	5	\$ 189.00	5	\$ 189.00	5	\$ 189.00	5	\$ 189.00	30
Cabana Queen Suites															
			29	\$ 189.00	29	\$ 189.00	29	\$ 189.00	29	\$ 189.00	29	\$ 189.00	29	\$ 189.00	174
Total		39	715		715		715		715		715		536		4412

#### **CONCESSIONS**

- •\$10 Rebate to master
- •Exclusive Use of 60,000 Square feet of meeting space with a \$125,000++ Food & Beverage Minimum
- •\$189 credit to the master account for every 40 rooms occupied
- •One-night non-refundable deposit on individual reservations to protect rooming block
- •Self-parking is discounted \$10 from prevailing rates the current self-parking rate is \$30
- •(59) Suites discounted to \$189
- •(2) Complimentary Suites credited to the master
- Guaranteed 2025 published catering menu pricing
- •Group rate offered 3 days pre/post events based upon availability
- •15% discount if Encore is utilized as your sole AV provider
- •Complimentary meeting space Wi-Fi with a minimum spend of \$5000++ with Encore Global
- Double Hilton Honor Meeting Planner points



## **FLOOR PLANS**



## **MEETING SPACE CAPACITIES**

	Total Sq Ft	L x W Room Size	Ceiling Ht	Classroom	Theater	Banquet 10	Reception	Conference	U-Shape	H-Squ
Coquina Ballroom	17,640	98.00' x 180.00'	20	1,200	2,000	1,600	2,000	n/a	n/a	n/a
Coquina A, B, C, E, F, G & H (ea.)	1,518	46.00' x 33.00'	20	90	120	90	100	40	40	40
Coquina D & E (ea.)	4,400	44.00' x 100.00'	20	250	350	250	300	60	60	60
Daytona Room	390	26.00' x 15.00'	8	n/a	n/a	n/a	n/a	12	n/a	n/a
Dolphin	520	26.00' x 20.00'	10	30	50	30	40	20	20	20
Executive Boardroom A	486	27.00' x 18.00'	10	n/a	n/a	n/a	n/a	12	n/a	n/a
Executive Boardroom B	504	28.00' x 18.00'	10	n/a	n/a	n/a	n/a	12	n/a	n/a
Flagler	2,40 <mark>5</mark>	37.00' x 65.00'	14	150	200	180	200	60	60	60
Flagler A & C (ea.)	2,400	37.00' x 22'	14	150	200	180	200	60	60	60
Flagler B	805	37.00' x 22	14	600	1,000	650	900	n/a	n/a	n/a
Grand Ballroom	8,512	133.4' x 63.7'	16	600	1,000	650	900	n/a	n/a	n/a
Grand Ballroom	8,512	133.4' x 63.7'	16	600	1,000	650	900	n/a	n/a	n/a
Grand Salon 1, 3, 6, 8 (ea.)	735	34.00' x 22.00'	16	40	60	50	60	30	30	30
Grand Salon 4, 5 (ea.)	2,142	34.00' x 63.00'	16	150	200	150	200	50	50	50
Manatee	520	26.00' x 20.00'	10	30	50	30	40	20	20	20
North Pre-convene	5,124	61.00' x 84.00'	14	n/a	n/a	300	400	n/a	n/a	n/a
Oceanview Room	1,924	52.00' x 37.00'	7	n/a	n/a	100	150	n/a	n/a	n/a
Ormond Room	390	26.00' x 15.00'	8	n/a	n/a	n/a	n/a	12	n/a	n/a
Ponce De Leon	1,612	52.00' x 31.00'	10	80	100	80	100	40	40	40
South Pre-convene	3,840	40.00' x 96.00'	14	n/a	n/a	300	300	n/a	n/a	n/a
Volusia A	650	25.00' x 26.00'	8	30	30	30	50	20	20	20
Volusia B	1,430	55.00' x 26.00'	8	60	80	80	100	40	40	40



## **CONTACT INFORMATION**



**Kristina Walters** Sales Manager Hilton Daytona Beach



**Jay Taylor Director of Event Technology Encore Global** Jay.taylor@encoreglobal.com



# FUN THINGS TO DO DAYTONA BEACHSIDE

## <u>Daytona Lagoon Premier Water Park and Family Fun Entertainment Center</u>

The basic ingredients for a fun and safe experience await you at Daytona Lagoon! Featuring 12 water rides, including the new 54-foot-tall Kraken's Revenge four-lane mat racer and the Shaka Half-Pipe 'pendulum slide', a giant wave pool and lazy river.

#### **Daytona Beach Boardwalk & Pier**

The Daytona Beach Boardwalk is a combination of the Joyland Amusement Center, Mardi Gras Fun Center, Pizza King & Lisa's Gift Shop all located right on the beach! This area entertainment center is south of Ocean Walk Shoppes and the Daytona Beach Bandshell.

#### Sun Splash Park

Sun Splash Park is a state-of-the-art 3,500-square-foot splash pad that features 42 water jets shooting water four- to six-feet in the air from a decorative play surface overlooking the Atlantic Ocean.

#### **Miniature Golf**

Enjoy numerous options for a round of mini-golf amongst scenic streams and waterfalls. Each location has a different theme.



## FUN THINGS TO DO DAYTONA BEACH

#### **Museum of Arts & Sciences**

This Smithsonian-affiliated museum is Central Florida's primary art, science and history museum. Visit The Charles and Linda Williams Children's Museum, which houses professionally designed interactive exhibits that demonstrate various principles of science

#### **Angell & Phelps Chocolate Factory**

A must see for anyone with a sweet tooth. Visit the store to learn all about the history of this famous brand of chocolate.

#### Jackie Robinson Ballpark and Statue

Relive history in this minor league baseball park where groundbreaking African-American baseball player Jackie Robinson played in the first integrated Major League Baseball spring training game in 1946. The ballpark features a statue of Robinson, historical markers and a museum, and is home to the Daytona Tortugas, a Cincinnati Reds affiliated minor league team.

#### **Daytona Beach Mural Trail**

Intentionally touring – or merely stumbling upon – unique street art such as murals can offer unexpected and interesting experiences to your travels. Public artworks can also serve as a picture-perfect backdrop for an Instagram post.



# FUN THINGS TO DO DAYTONA BEACH

#### **Daytona International Speedway**

Daytona International Speedway has enduring appeal all year for all ages! It doesn't have to be Speedweeks to get your blood racing. And you don't have to be a race fan to get spellbound by a Speedway Track Tour. Kids love it at the track, too!

#### **Daytona Beach Zipline Adventure**

Enjoy a treetop adventure at Daytona Beach Zipline Adventure, up in the trees of Tuscawilla Park! Our aerial adventure courses are deftly woven into the forest.

#### **ONE DAYTONA**

ONE DAYTONA is a lifestyle and entertainment center located across from the iconic Daytona International Speedway in Daytona Beach. Featuring a vibrant and growing mix of unique dining, shopping and entertainment experiences.

#### **Tanger Outlets**

Shop over 75 designers and brands in a relaxed, lush and modern oasis.

#### **LPGA International - Hills Course & Jones Course**

LPGA International, the premier golf club of Daytona Beach, boasts 36 holes of world-class golf designed by Arthur Hills and Rees Jones and both courses are great for all skill levels.



### FUN THINGS TO DO DAYTONA BEACH

#### **Riverfront Esplanade**

Spanning a mile of Intracoastal waterway, the Riverfront Esplanade is a premier gathering space and botanical garden in the heart of Daytona Beach. Composed of more than a mile of waterfront running trail with comfortable benches and swings overlooking the Halifax River.

#### Dr. Mary McLeod Bethune at Riverfront Esplanade

The 13-foot-tall statue celebrates Dr. Mary McLeod Bethune, the founder of a small school in the early 1900s that evolved into Bethune-Cookman University and was a civil rights and women's rights pioneer, and the champion of Black Daytona Beach residents who fought for their most basic needs and rights.

#### K1 Speed Daytona

Indoor go-kart racing. K1's state-of-the-art electric go-karts can reach speeds of up to 45 miles per hour, giving you the ultimate adrenaline rush on a large, elevated indoor track.

#### **Three Brothers Boards**

Three Brothers Boards offers Stand Up Paddle Board dolphin and manatee adventure tours in the Halifax River and Daytona Beach area.



## FUN THINGS TO DO PONCE INLET

#### Climb To The Top Of Florida's Tallest Lighthouse

The Ponce Inlet Lighthouse is one of the most well-preserved lighthouses in the country. Climb the 203 steps to the top for spectacular views of the Atlantic Ocean as well as the Halifax River.

#### **Marine Science Center In Ponce Inlet**

At Marine Science Center you can experience first-hand how sea turtles and seabirds are being rescued and rehabilitated to one day be returned to the wild.

#### **Ponce Inlet Watersports**

Ponce Inlet Watersports has everything you need for great family fun including dolphin and manatee boat tours.

## **Grab Lunch Or Dinner At Off The Hook At Inlet Harbor Raw Bar And Grill & Down the Hatch**

Come for the scenery and stay for the great tasting food along the Halifax River, home to tons of wildlife.



## FUN THINGS TO DO ORMOND BEACH

#### **Ormond Memorial Art Museum & Garden**

This museum showcases paintings, drawings, video, mixed media, photography and three-dimensional works of art. Adjacent to the museum are lush tropical gardens that offer a beautiful setting complete with gazebo and nature trails, fish-ponds and fountains.

#### **The Casements**

Formerly the winter home of multi-millionaire John D. Rockefeller, The Casements now serves as the City of Ormond Beach's cultural center and museum containing art and historical exhibits.

#### Tomoka Outpost at Tomoka State Park

Located inside the beautiful Tomoka State Park. Enjoy an ice-cold soda, snacks, adult beverages (beer/wine) including local craft beer on tap, and their famous Cup-ah Cajun with a fantastic view! Melt into a comfy rocking chair and soak up the sights and sounds of the amazing Tomoka River

#### **Andy Romano Beachfront Park**

Andy Romano Beachfront Park is a four-acre park located along the beach that offers beach access, free off-beach parking, restrooms, splash pad, playground, shaded pavilion, concessions, grills and restrooms.



## DINING AND ENTERTAINMENT WALKING DISTANCE





















































